Il congiuntivo presente (all verbs)
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VOI DIRE

LEI DARE

VOI DARE
LORO BERE

LEI CAPIRE

VOI VOLERE
VOI USCIRE

LEI DOVERE
LORO AVERE
VOI CAPIRE

LEI MENTIRE
LEI VESTIRE
LORO VOLERE
LORO DOVERE
VOI SPIEGARE
LEI GUARDARE
LORO LEGGERE
LEI PREFERIRE
LEI ASPETTARE
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LEI FARE

LEI BERE

LEI AVERE
LORO DIRE

LEI USCIRE

VOI VENIRE

VOI ESSERE

VOI SALIRE

NOI ESSERE
LORO ANDARE
VOI LEGGERE
LEI PORTARE
LORO ESSERE
NOI GUARDARE
LEI PRENDERE
LORO PORTARE
LORO METTERE
LORO SPIEGARE
LORO SCEGLIERE

ZmZ2wnw>» —>» 22> MMC<X>» X — X Om>»

O0C UT>» 2060 mMouoZOI —Crm«-oOWwm

Z> W —-—00ZIT>»TNMWOONXIAH>»00N
>omm-—m>»>»>» —mM< I>»>»X>»0ZN
41T <O0<O-<ITVTCOITIPPZ>rP-—2-0

A m-ITninr<iioaoOo-—--—4x$x0OmoTm-4+dH>
m->X» — I OMm-— T WIO>>»NTVT<D>»ITITO
< 4 4Z2COo00>» U0V —-—un0OoX>»7T1nMO00O VO —
O—mMO>» I «>»O®OMMCrUO-—-—0DX»2Z0TO

LEI DIRE

VOI BERE

LORO DARE

NOI CAPIRE

LEI VENIRE

LEI ESSERE

LEI ANDARE

LEI PAGARE

LEI SALIRE

VOI PORTARE
LEI LEGGERE
LEI METTERE

LEI TORNARE
LORO VESTIRE
LEI RIPETERE
LEI RIMANERE
LORO RIMANERE
LEI SCEGLIERE
LORO ASPETTARE



Solution
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